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BT (X) % HEH| B % N BT (X) % HEH| B = N BT (X) % HEH| B = Hi BT (X) % HEH| B = N BT (X) % HEH| B % B

ZHET 47 64 63 127|7k SET 155 224 252 476| 1 X 293 359 388 747| = EET 63 104 114 218| & & 87 126 143 269
rh T 26 34 40 74| iR ST 226 336 295 631|fi2X 295 378 391 769 | 3= BET 45 66 68 134| R BHET 49 72 87 159
$HRET 45 51 51 102( L% EET 98 139 178 317| 3K 49 47 57 104|458 TUET BT 32 52 57 109| A F{RET 35 67 72 139
TEET 81 106 102 208|127k BT 24 50 38 88 |4t % A HT 553 824| 872  1,696|2IEFHT 21 41 44 85 |{Hl S E BT 14 26 32 58
ik ki 87 107 129 236| & HHET 28 38 42 80| AHT 73 118 108 226 |45 /TUET 86 113 118 231| L S HHET 18 26 22 48
REHT 47 56 59 15|t & BHT 55 87 82 169| Pr A ET 83 138 128 266| & FrET 191 247 258 505| & EET 38 55 69 124
£ RIET 269 379 368 747|122 ET 223 317 292 609| & —TH 76 98 110 208 |4z 8T 59 64 64 128 | ZF HTIRET 55 80 85 165
N=Eit:i 13 18 20 38|y BHT 92 145 157 302| &M =T H 98 112 145 257|rh BLET 112 133 121 254| % HET 35 74 66 140
B AT 19 29 45 74 (7K B BT 60 89 100 189|#IK=T B 102 111 142 253 |{E ALET 450 577 582 1,159 A SHT 63 95 107 202
A RIET 25 35 46 81|t2#RHET 14 27 26 53|ZEHMmET B 151 186 234 420| H & THET 61 79 93 172 | & (A SHET 22 36 54 90
R—&HT 33 37 36 73| B NNEH R 361 457 416 873|EI AT H 79 111 114 225|F ALK 151 188 201 389 |@ ST 39 58 Al 129
R HHT 79 80 94 174|128 ®E—TH 193 263 257 520| R FEX 35 51 44 95| RABMX 123 169 158 327 | AET 34 56 54 110
H=HAT 26 26 38 64|FBZ X 63 96 102 198|FA—TH 156 225 255 480|FEIE MX 155 199 226 425ILBEE—THE 59 74 92 166
BHIA\VER 456 555 599  1,154|BJII#IX 5t 1592 2268 2237 4505|HH=TH 188 262 277 539| 45 MATER X 77 101 100 201(ILE&=TH 90 137 134 271
[iPANVES =S 96 118 136 254| THaEFET 90 133 124 257\ =TH 159 234 232 466| = S2fT 135 174 183 357(ILEAR=TE 87 117 131 248
M/I\YER 238 318 327 645| 7% B EFET 65 103 92 195| %R T B 129 219 220 49| FEE—TH 57 81 73 154/ lLEEmTH 123 123 146 269
I\ RERET 219 227 252 479|/N £ BT 22 36 35 N|{HhE—THB 147 187 197 384|FEAR=-THE 117 145 180 325(ILEEBERTHE 85 138 145 283
T EET 465 674 726  1,400| EA4ETET 60 83 91 174/ =TH 200| 296 312 608|3E EHT 95 147 121 268|ILEBATH 109 174 162 336
AT 17 21 18 39| A EFET 67 95 82 177|4L R ET 91 108 124 232|hEHIX 5t 2,030 2,680 2761 5441 LEHX 5t 1042 1534] 1672 3,206
YR ET 13 13 17 30|fBEFMX 3§ 304| 450 424 874|dtREE—TH 120 173 207 380 | FHAHT 165 218 210 428| FREFE—TH 138 184 190 374
ERETX 17 20 25 457/ LT 91 137 149 286t REFE_THE 152 222 262 484| L= Q@Y 52 83 89 12| FRHER=-TH 97 135 108 243
BT 24 28 33 61|t HET 145 197 230 427| B 5t 3229| 4459 4819 9,278|5 FEHT 93 127 128 255| FREFR=TH 149 188 199 387
T BT 98 107 107 214| % RefET 222 273 297 570|{E L ET 205 282 316 598 | A2 HET 194 305 318 623| FRERTTHE 160 219 223 442
FEAHET 587 820 796  1,616|dL SHT 65 94 115 209| AR 93 127 142 269 |45 ALET 31 59 59 18| FRERAETH 128 169 177 346
EHEAR1X 100 104 121 225| T35 FE S ET 17 24 22 46|c0 481K 58 72 98 170|Z HLET 83 115 135 250| FREFERATE 155 229 244 473
JEHEAR2X 198 262 276 538K SLHT 26 44 41 85|;E48)IIX 45 77 76 153 | &Il ET 125 168 179 37| FREFBE—TH 132 176 170 346
EHEAIX 61 59 79 138 4L & RIX 71 71 91 162|48)1 18T 122 174 189 363|E KET 53 91 93 184| FREB_TH 136 189 184 373
JEHEAR4X 187 287 256 543|MFH—TH 134| 208 205 413+ FrET 18 34 44 78| H th ET 16 24 32 56| FREFBE=TH 132 181 195 376
HEASX 332 441 463 904| LRI Bt 771 1,048 1,150 2,198|fHFEHX 5 541 766 865 1,631|&FEF—TH 91 126 126 252| FREABWT B 101 128 146 274
JLHEAR6X 193 251 238 489| = {RET 124 151 205 356 = K BT 439 632 587| 1219|#F1EF=TH 55 80 74 154| FREBRTH 133 159 162 321
AXBEZTH 146 176 170 346| LA R X 9 13 15 28| &= kT HT 396 543 559  1,102|#FIF=TH 69 95 107 202| FREFAATE 136 177 194 371
E=E—TH 84 105 106 211 | SRR 10 15 17 32|15 iKHET 43 70 79 149|# 3 (ZHETH 100 134 130 264| FREFBELTHE 171 232 257 489
E=E_-TH 99 118 142 260|BHEK 9 12 13 25| B K HET 64 94 110 204|#FIFETH 65 95 94 189| FHRET®E/N\TH 116 139 156 295
EF==TH 99 117 135 252|3EALET 40 53 70 123| R RET 37 58 54 112|#FFEATH 69 80 85 165| F X Em—TH 106 152 156 308
mm—TH 95 105 123 228 | ERET 21 31 31 62(/\H R HET 49 70 77 147|BKE—TH 96 147 140 287| FHRER_TE 144 218 217 435
#H=TH 118 152 189 341/ IET 41 56 70 126|/\ EHET 118 183 196 379|EEK=TH 52 73 72 145| FHREFX 5t 2,134| 2,875 2,978 5,853
HHZ—TE 71 84 95 179| £ /INIIET 36 41 63 104| — 1R ET 58 68 80 148|MACpiX 5t 1,409 2020 2071|  4,091|+4HT 108 137 156 293
EE-TH 113 161 144 305| 2 H#AHET 32 39 49 88| & ERET 155 220 237 457|485 HT 373 529 501 1,030| S AAET 99 113 130 243
#*E—TH 129 145 164 309| = R ETHT 100 165 166 33| EEARTR 362 528 488 1,016 | F[EHET 105 157 164 321|FaFaHT 97 134 122 256
Z*EB=-TH 88 139 139 278|BAEER 79 109 11 220|hE KR 182 251 245 496| 1B FHET 320 429 398 827|FEA—TH 105 124 131 255
RIE—TH 150 177 204 381|= R AT 59 95 90 185/ AE K 114 156 152 308| At ET 346 523 495  1,018|FM=TH 75 85 89 174
KELEZTH 69 73 88 161|SIRMX 5 560 780  900| 1,680|—IFFHKX 203 286 266 552| 4B &t 1,144 1638 1558 3,196|F4=TH 65 90 93 183
#H—TH 69 Al 86 157| = HLET 129 215 214 429|HIVER—TH 73 92 104 196 XIREFET 66 98 87 185
BH=-TH 61 70 87 157| K 5K BT 85 130 144 274|HEVHEIE=TH 107 137 148 285 REREHET 98 133 113 246
#H=TH 16 29 29 58| AR 110 139 182 321|HIVEHR=TH 76 95 106 201 [EEPN51:) 76 95 94 189
BX—TH 125 173 198 SN|HHE—TH 156 138 188 326|HSVHESEMT B 116 170 148 318 BERHE—TH 64 86 84 170
BN=TH 7 11 5 16| HR_TH 60 74 78 152|/\ B X 84 119 129 248 EHER 63 59 79 138
BEHXAETH 102 122 139 261|KKFX 80 120 113 233| MBI Bt 2,676 3,772 3765 7537 NIBEMX 5t 916| 1,154| 1,178 2,332
BHRATH 52 70 73 143|F IR 121 179 177 356

BRrtTH 110 134 157 291 |F FFehF X 50 68 76 144 FAEHbIS, 5t | 25401| 34,565| 36,096 70,661
BH*N\TH 118 162 171 333|F HAEME 44 63 51 114

BRATH 1 1 4 5|# FEX 190 263 279 542

BX+TH 8 10 8 18| —AHIX 5t 1,025 1,389 1,502 2,891

MEX 5t 6,028 7,732| 8216 15948
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BT (X) £ N BT (X) £ BT (X) £ x N BT (X) £ HEH| B X BT (X) £ HEH| B &
EJNTELari 81|/ \tBET 374|3R R ET 175 337 NETH E 44 66 83 IR AART 45 70 72
EJNE=TE 463| == HT 156 | FE 3R 7 BT 301 573|A AR 38 42 49 HAAREFET 23 37 41
EJNE i 105| &= LLET 661|& A FAT 353 689|;a] N ETHEE 105 144 175 J7I—)LEH 29 49 44
%I hETER 325|ch SHT 173|B3%—T8H 149 299 (AT RETEY D B 49 70 76 TS ET 60 85 105
EJNEA:ric] 95|/ 5 ILIET 146 |38 5 F H AT 60 122| A NETS LA 54 76 64 = [RET 39 46 44
EJNEE: e 98— /EBHIX &t 1,510| @ EAFET 67 137 NET O EE 15 24 25 T EET 44 73 80
EJNEd:ri] 115|883k 5 BT 221| 7 28T 87 174 AN BT P E i 3 3 6 57 101 163 174
EJNE e 88| #B Sk HT 250w EET 237 461 |AT T 525t 5 5 6 =IRET 32 47 51
EJNE R e i 147|883k KBT—TH 90(BAkM T B 264 526 Al NET A {7 20 27 43 THE 25 24 35
ENKARETER 69|EBRABT—TH 84(BAX=TH 147 290 (AT ETR £ 9 8 1 tHE 19 31 28
EJNS i 128K ABT=TH 131 %05 R BT 161 326N ETHRE 18 21 18 Al =BT 64 84 98
EJNE e 402|883k ABTMT B 517|887 244 474 NET &/ 5 4 3 Bl e H BT 19 25 28
EJNEGE i 99|#B3kEA B ET 400 | ZAEFET 163 317[ATRET T T 4 3 2 *2 R8T 48 49 46
EJNE:E 209| %83k & RET 272|EAEr FRET 102 197 NETRE 21 23 23 - EKET 27 33 41
EJNPric] 215|#53k L 3RET 84| &8 AE BT 111 231|5gAHbiE 5t 390 516 584 T EET 18 20 25
EJNR e 271|#83k T 3RET 75| B S FET 422 857| FT&HE 63 89 93 o R4ET 15 13 13
EJNE N 102(#8KHEE 102 FiEB A EHT 35 78| L5 95 101 137 = HEET 5 1 4
EJNEINIES 183 (¥R R AN=FHT 462|MitiX 5t 3078  6,088|Wk%E DB 53 81 69 HRET 3 3 2
=)IFRETE 558 |E8 S H BT 222| B @ #T 290 553|1& B 18 34 36 ] F BT 1 10 10
=)1IFRETR 548|#83kK FET 79| OHET 217 400| KPR 11 1 10 A+BHET 0 0 0
S 5t 4,245 #85K K E BT 532| KA ET 90 178|#K 37 26 40 R BT 2 2 0
REHT 772|883k K E FEET 249| A% S BT 31 57|R 36 59 50 Frith T 0 0 0
FHRAT 684|E8kKFET—TH 23|1THT 87 172| FKiB 25 43 41 HEERT 22 29 48
FHBEET 114|BBRKFET=TH 192|ch /4R ET 78 143| L RiB 27 32 34 2B KET 43 52 63
RIEAT 143|88kKFETET B 78| R EFHT 73 157| R BH 12 15 16 TEHEAHE 62 87 101
[ et 457|%83k B HHET 91|t /RET 79 149|h'E 53 49 57 LESE 44 58 68
e S BT 780|#SRIIX 5t 4,154 45 K HET 35 65| SHBME 5 430 530 583 ik RAT 33 57 53
SEth AT 228| A5HET 749| B [ H th 421 818 =VREHE 52 83 104
Bay)ifi g 662|/NNET 504 |t REET 231 444 Sl LT 46 65 76
HEHET 886|BAX-TH 407|853k & B HET 291 570 UN:ia 52 5 5 6
e S AT 40(/NHIERET 247 R AEHET 214 437 TATHEE 19 27 17
ESFH 425| B fi1-F BT 742|h /BT ET 14 34 Stz 955| 1,328 1,477
BEEFR 385|BABHETIL/E 1163 O AT 93 176 =F 59 64 78
¥t 398|FHEHRTE/ K UEZS it 203 411 e 7 7 4
IREMX 3§ 5,974 |BA ST h#F 148|8BXBHIX 5 2447 4764 R 79 92 13
EE1RK 147|BA S ETEG /#F 108 ZR 32 27 46
EET2X 137\ / RETET 76|#RSkithis 5 11,575 22,676 Sl 24 21 23
EE3X 12| FHEEHET 269 75 8 6 6
RETAX 121| L #& B HET 147 Bra 1 2 1
EE5 X 341 | FHSHET 237 HPRBRX 25 31 37
RET6X 365|FSHHET 473 BOhig 3 235 250 308
EE7TR 11| FFSEE 627 Big 277| 363 373
FERT8 X 219| R FHFSHET 638 28 86 105 102
EETOK 255(dL 7% SHET 352 THER 0 0 0
EBT10K 629| 7% SET 69 BEthis; 363 468 475
EET1 1R 56|t #x S HT 184
EAT12K 456 | LUK § 6,160
EX 5t 2,949 =) 40,478| 55,102| 57,922 113,024
=) |Itthis 5t 13,168




